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TOTAL | JlEfiz | TOTAL | NET TOTAL | JIgfiz | TOTAL | NET

ARZEA KHAEEB
225 1 241 4 (2206 4
K 4 OUT | IN |TOTAL HDCP| NET K % OUT | IN |TOTAL |HDCP| NET
g A 5h 35 | 36 71 *| +12 722 & g B 40 | 39 79 *| 6.0 |73.0*
X & B B 39 | 37 76 *| 48 |71.2 H F B8 F i 39 | 40 79 *| 6.0 |73.0*
2 | i E 41 | 37 78 *| 7.2 |70.8 #F OB B, X 41 | 42 83 * 84 |746*
Z’OE — EB 41 | 38 79 48 |74.2 " & B F 44 | M 85 7.2 1778
TOTAL | JlBfSL | TOTAL | NET TOTAL | JlBfiL | TOTAL | NET

mAR FEED
235 2 243 5 12214 7
K 4 OUT | IN |TOTAL [HDCP| NET % OUT| IN |TOTAL|HDCP| NET
m B #® X 39 | 35 74 *| 12 728 a8 & A 39 | 38 77 *| 36 |734*
F + B F X 36 | 40 76 *| 36 |724 X B & M 43 | 40 83 *| 96 |734*
% K E i 45 | 40 85 *| 84 |76.6 2 BH % © 43 | 40 83 *| 84 |746*
% K B 1T s H H# F B 42 | 41 83 | 7.2 |75.8
TOTAL | IEfZ | TOTAL | NET TOTAL | JEfiZ | TOTAL | NET

FHEB FHE
237 3 244 6 (2248 12
K % OUT | IN |TOTAL|HDCP| NET = OUT | IN |TOTAL|HDCP| NET
I R - 39 | 39 78 *| 7.2 [708 2 &’ A = 40 | 36 76 *| 24 |736*
X B8 ¥ = 40 | 39 79 *| 6.0 |73.0 ¥ H# B B 42 | 42 84 *| 96 |744*
R W B ¥ 40 | 40 | 80*| 84 716 £ B A = 44 | 40 | 84* 438 |79.2
O OH B a7 42 | 40 82 8.4 |736 K B - z 44 | 46 90 | 132 |76.8*
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TOTAL | IBfZ | TOTAL | NET TOTAL | JIEfiZ | TOTAL | NET
) BBZEB
244 7 2164 1 252 10 (2206 3
K 4 OUT | IN |TOTAL|HDCP| NET K £ OUT | IN |TOTAL |HDCP| NET
F B B = 38 | 39 77 *| 6.0 |71.0* B B & =X 42 | 37 79 *| 6.0 |730*
£ oW E X 44 | 39 83 *| 96 |734* B # 8 X B 42 | 42 84 *| 96 |744*
B W & B 46 | 38 84 *| 120 |720* X A K iE 47 | 42 89 *| 144 (746
¥ H IFE H 45 | 45 90 | 16.8 |73.2*
TOTAL | JBHL | TOTAL | NET TOTAL | JEfZ | TOTAL | NET
KHARA T
246 8 (2244 10 253 11 2230 8
K 4 OUT | IN |[TOTAL HDCP| NET K £ OUT | IN |TOTAL |[HDCP| NET
m B B OB 40 | 39 79 *| 36 |754* ' B O# B 40 | 40 80 *| 6.0 |740*
T O F B O 42 | 41 83 *| 96 |734* * £ E = 44 | 40 84 *| 96 |744*
w X F X 41 | 43 84 *| 84 |756* B Z2 R OF i 48 | M 89 *| 144 |746*
A B ©E A 50 | 42 92 | 12.0 |80.0
TOTAL | JBfZ | TOTAL | NET TOTAL | JBfiZz | TOTAL | NET
B HE
251 9 12246 11 256 12 (2176 2
K & OUT| IN |TOTAL |HDCP| NET K 4 OUT| IN |TOTAL |HDCP| NET
A B = i 40 | 40 80 *| 84 |71.6* E B # = 40 | 4 81 *| 96 [714*
E B = 3 42 | 42 84 *| 96 |744* E 2 5 43 | 39 82 *| 96 |724*
Mmoo F W B 47 | 40 87 *| 84 |786* kB B B B 51 | 42 93 *| 192 |738*
g2 H - B S E N # i S
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TOTAL | JEfZ | TOTAL| NET TOTAL | JEfiZ | TOTAL | NET
By AR
257 13 (2210 6 264 16 (229.2| 13
K £ OUT| IN |TOTAL|HDCP| NET K £ OUT | IN |TOTAL|HDCP| NET
i # ah 44 | 40 | 84 * 108 (732*| A 3 41 | 43 | 84*| 72 |768*
m OB A A 44 | 41 | 85*| 120 |730*| B F B R 51 | 39 | 90*| 156 |74.4*
N K B E B 47 | 41 88 * 132 |748* B8 A B X 49 | 41 90 *| 12.0 |78.0*
52 B W X 42 | 47 89 | 96 |794
TOTAL | JBfL | TOTAL| NET TOTAL | JBfZ | TOTAL| NET
FHEA FH=EC
258 14 (2232 9 269 17 2342 14
K 4 OUT | IN |TOTAL |HDCP| NET K % OUT | IN |TOTAL HDCP| NET
X & E if 42 | M 83 *| 84 |746* # K X x 43 | 44 87 *| 108 |76.2*
=2 - 41 | 43 84 * 96 |744* E K B B 47 | 42 89 *| 120 |77.0*
m B B - 49 | 42 91 *| 16.8 |74.2* X X F & 44 | 49 93 *| 120 |81.0*
x B B & S H # #F %k 548
TOTAL | JBfZ | TOTAL | NET TOTAL | JBfZ | TOTAL| NET
(=X P AR 1|
e 258 | 15 2208 5
K £ OUT | IN |TOTAL|HDCP| NET K 4 OUT | IN |TOTAL|HDCP| NET
W #® © 46 | 39 85 *| 132 |718* OH e %
Mmool = 46 | 40 86 *| 132 |728* X £ B 41 | 39 NR
R B %= & 42 | 45 87 *| 108 |76.2* X & B 44 | 45 NR
&t B = it K&




